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Of the 96 children in year 6,
three-quarters have pets.
45 children have a dog, 21
children have a cat.
How many Y6 children have
other kinds of pets?
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What is the total 
of £110.12, 
£3.43 and 
£11.07?
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I think of a number, add
3.7 and multiply by 5.

The answer is 22.5

What was my number?
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960 marbles are put into
16 bags.
There are the same number
of marbles in each bag.
How many marbles are in
3 of these bags?
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In a dance there are 3 boys
and 2 girls in every line.
42 boys take part in the
dance.

How many girls take part?
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196 children and 15 adults
went on a school trip.
The buses seat 57 people.

How many buses were
needed?
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